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) P(X =1]Y =1)=0.6 =

P(X =0]Y =2)=04=

= P(X=0Y=3)=04-P(X =0,Y =1)—~P(X =0,Y =2) =0.4-0.1-0.2=0.1

P(X =1Y =1)

P(Y=1)
— P(X =1Y =1)=0.6x0.25=0.15
P(X=0Y=2) _,
P(Y =2)

6= P(X =1Y =1)=0.6P(Y =1)

= P(X =0,Y =2)=0.4x05=0.2

YP(Y =1)=P(X =0,Y =1)+P(X =1Y =1)=0.25

= P(X =0,Y =1)=0.25-P(X =1Y =1)=0.25-0.15=0.1

P(Y =2)=P(X =0,Y =2)+P(X =1Y =2) =05

= P(X =1Y=2)=05-P(X =0,Y =2)=0.5-0.2=0.3

P(X =0)=P(X =0,Y =1)+P(X =0,Y =2)+P(X =0,Y =3)=0.4

P(X =1)=P(X =1Y =1)+ P(X =1Y =2)+P(X =1Y =3)=0.6
= P(X =1Y =3)=06-P(X =1Y =1)-P(X =1Y =2)=0.6-0.15-0.3=0.15
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4= P(X =0Y =2)=0.4P(Y =2)
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(Z)wE(X)=>x-f(x)=0x0.4+1x0.6=0.6
E(X?)=Y %% f(x)=(0)°x0.4+(1)*x0.6=0.6

E(Y)=>y- f(y)=1x0.25+2x0.5+3x0.25=2
y

E(Y?) =Y y?- f(y)=(0)*x0.25+(2)* x0.5+(3)* x0.25=4.5
y

E(XY)=2>xy- f(X,y) =0x1x0.1+0x2x0.2+0x3x0.1+1x1+15+1x2x0.3+1x3x0.15=1.2
X

Var(X) = E(X?)—(E(X))? =0.6—(0.6)> = 0.24
Var(Y) = E(Y?)—(E(Y))* =4.5-(2)* =05
Cov(X,Y)=E(XY)-E(X)-E(Y)=1.2-0.6x2=0
fi5 XY VAR D
o Cov(X,Y) 0
Pxx = Nar(X)Nar(Y) 02405
(74)~ f,,(0,1) =0.1=0.4x0.25= £,(0)- f, (1)
fy(0,2)=02=0.4x0.5= f,(0)- f,(2)
fy(0,3)=0.1=0.4x0.25= f,(0)- f, (3)
fxy(ll) 0.15=0.6x0.25= f,(1)- f, (1)
f
f

vy 12)=03=0.6x0.5=f,(1)- f,(2)
vy 13)=0.15=0.6x0.25= f,(1)- f,(3)
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(Z)FRF#H(-)? P37 e 2 T 2RR C ek 4 (power) 5 @ 7 (84 )
CEHFFrdE(- )P vz 2 TR CE AL 5+ a3 - 4 (typell error) 2 5 >
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_ k-75
~)P(X2k|u=75)=0025=P|Z> ~0.025
() P( | 14 =175) = ( 10/ TooJ
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— 2 =1.96=k =76.96
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76.96-78
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(Z)1-B=P(X 276.96| u=178) = p(z > j = P(Z > -1.04) = 0.8508

(Z)B=P(X<76.96|u=78)=P 7 [0%0-78 P(Z < -1.04) = 0.1492
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# 10/~/100
T E-FARI0000 K2 FHEA I FFRA Y REER AR ARF IR AL @ T
G Tl

Y R L IEREN RS
B4 7 S 150 300 450

(- )R FkE a=0.0027T  RIFIAFEHEELARARHEZRF LT M 258 04
Mt T BRI BTl %% o (104)
(= ) ix (@T) Ak st R S EH LS P2 (64)

:
(0L ot 595 RLh st & /i i
2.Hy 3 S RLR PRI ] R R
3.a=0.05
4.C={4?| % > y24s(2) =5.9915}
R-C, _
5. %) Ho S50 B A v Bey = ——L e e A

CHERE | CEERE |GV PR A

NG 150(153) 300(297) 450(450) 900
EXYTEN 20(17) 30(33) 50(50) 100
T 170 330 500 1000

PR R
£33 —¢)° _ (150-153)°  (300-2997)° (50-50)’
i1j=1  Gij 153 297 50
G PTTR Ho » N E T S L AR ] A
GRLRGEY RS

=0.8913¢C

—-3--



R LEEE |-

T wp 2 BEF AR R R RO L F A AN R A SR R A TR
S AL b
k. thde (n) | T8 (%) [#38% (sD)
1 3 13 25
2 5 14 16
3 7 15 9
(m)FEPLFREAL > BEFRE =000 T = B*HATHORIT2HPE?BEXLT
B & RRBHEAIT o (L %% A E Foes(2,12)=3.89 v Foes(3,12)=3.49) (12
~)

()BT EL P2 (84)

:

()L Hoimm =1 =145
2.Hyiu T EHIE S 1=12,3
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